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OLIetEH, 2HIE 0182
200,000 * 122 2,400
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12 QIZFQIR € = H| 300 300
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201 er23 | 14,680 5,920 8,760
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ORFIDEICID|I 88 S/W 2toldlia Fe
8,760,000 * 14 8,760
02 S5=2g4l 3,120 3,120 0
OXXIEHD SS2CIANAE FXE=H
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206 MH=H| 1,000 1,000
01 M=4l 1,000 1,000
O&XER D &I 1,000,000& 1,000
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FMAH AL 2t 9,200 11,200 22,000
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01 Al&HI 4,000 5,000 21,000
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Ostaaate] 12,000
S=1=IEx 10,0002 #2000+ 122 2,400
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= 11,700
- 31,576
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- 31,576
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T 31,576
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=1. 1. JIE 43,6003 *12,914Z X1/16.3934 34,347
= 10,304
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201 =3 1,420 1,420 0
01 AtR2t2l] 1,420 1,420 0
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26,265,000 8% 2,102
OXNSKELXIAAE(DAM) SXl2el
32,785,080 *8%t105, 225, 1502 *12% 15,250
OPCEQHRITHAIAE! 7|2l
14,266,600 *10% 1,427
OIRXI 22| A AE X2
15,510,000 x10% 1,551
OCIEEES SLIHYE AIAE SXl2tel
9,700,000 *741x10% 6,790
OFAHEH|(PC) Al 26,466
20223 = &H|
158,059, 800 *6%+6/ 12& 4,742
©2018~2021 = &H|
155,649, 7502 *6%+3/ 1224323, 151, 1203 6% 21,724
OZHIOIXNAIAE RX2e] 23,254
o= HIOIXI SW 196,556,000 *10% 19,656
o ZHIOIXI JtAFSEAIAE(HN/SW)
64,352,000 +8%+*6/ 12&+20, 460,000 *10%+6/ 12
E 3,598
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33,075,810 %8% + 32,907,000 *8% 5,279
O=2-Ltet HaN el0lw sXl2el
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308 AHXIEMSOIE 142,306 139,340 2,965
11 S 2S0UeZB & HASAIE 142,305 139,340 2,965
OSSIIEAIAE & ol S2AIAE X2
el 90,333,000 90,333
OMSHEAIAE 4EHH 2N
6,600,000 6,600
Oo2-LitAAag 29 45,372
o2-LictAIAE 2SI
7,500,000& 7,500
o2-LIZHIAE ®AFHI(HI/SH) RX22)
37,872,000& 37,872
23t Dl e & | &5 465,142 499,670 A34,528
201 er23 | 101,732 86,320 15,412
01 At2teltl 64,760 63,520 1,240
OgRs8 2ZEAN F 55,960
oML A 2021 419,000 *80= 33,520
ogta 2022 224,4003 %1002 22,440
OXAEYl 25 78 & dd3=2Y 2l 8,000
oMAEH| SIECIAT S =2l
150,000 23| 12 3,600
od - It A(LAN) B8 & FHI
1,000,000 %32 3,000
oltZHAS HOIZ 100,000 * 10H 1,000
oPC22|E ctEHI0IZ 20,0003 20H 400
OddIEEY 2EFA =€
8,000 x5& 20 800
02 S3=gHl 36,972 22,800 14,172
O EEY =gl 36,972
oA 2L MEIH ALBE
600,000 x 12| &= 123 7,200
oTHCHAXII HEIH AEZ
250,000 x12| 6123 3,000
ofFoHMAD|IEZ MEH AISE
30,0002 18] &x12& 360
oo MeER EasHUEI2e2t
S d83d ME=
450,0002 #42] &4+ 123 21,600
of¥ozas IS UH dE2d Al
=1=d 281,000 12| &+ 123 3,372
oM HESGUTE F223 U4
sSldAEE 30,0003 42| &4+ 123 1,440
405 KHaHE SH 363,410 413,350 A\49,940
01 Tt =S F=HI 363,410 413,350 49,940
Og2fE PC A 233,450
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oPCEZH| 1,200,000 *161CH 193,200
=BLIH 250,000 *161CH 40,250
OUIEA AR (L2ARXI) DA
4,200,000 +5CH+7,500,0002 * 14CH 126,000
Os2s ISl dE2d ctRE +
& 3,960,000 14| 3,960
=25t Ol =it 58,500 23,700 34,800
201 Ler23| 24,200 23,700 500
01 At2teltl 20,320 20,320 0
O=2 UNESEHs WF
17,900,000 17,900
OXg F=stus 23 1,120
oXMP FEstu=F Wi 7Y
8,000& x50 400
oXel HESNS LA &Y
80,0002 x3 *32] 720
OZEs u=sd 29 800
cusE =35 7Y 800,000 800
OSSUIOIE & CIOIEII2E W A
=g 500,000& 12 500
02 S3=4gl 3,880 3,380 500
OSHOIX & &A1 2 3,880
oZHI0IXl SSLRIEM ==&
500,000& 500
og2 g == 30,000 «2H 60
oZHOIX OIOIEAMHIA ==&
550,000 550
oZHOIXN SUHE 22IE =2
550,000& 550
oAU T FUHEUS =5
600,000 600
oMSHFAAE M AIZE
10&+1,00024 123 120
ocgdId SEUS AAHI
1,500,000& 1,500
207 AR 34,300 34,300
02 MAHHZHI 34,300 34,300
OUE SHI0IX 2= W&
20,000,000 20,000
OgAteldE SHOIX M=
14,300,000 14,300
22t Z IIEEES 20,960 45,960 A25,000
201 fet=3| 20,960 20,960 0
01 AtR2t2|HI 20,960 20,960 0
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SHiAl T2 2 (YD)
29,0002 x600= 17,400
oAl I2NH(ATPHHE)
440,000& x5 2,200
oAl T2 (A N2 )
860,000& 12 860
OFEE0 L IHCIFEES W= 2AeE
500,000 *13] 500
SHAESHHHI (L) 96,273 101,169 A4,8%6
oIz 2| 42,867 41,544 1,323
HAr2e| 23| 42,867 41,544 1,323
101 214 d| 41,649 40,326 1,323
03 SR (RIHL) 22X B4 41,649 40,326 1,323
OFAr2te| & 41,649
oJlga 2,472,690 128 29,673
cItEsY 20,0002 128 240
oXAAL 20,0002 * 122 240
o ZMZ A 140,000 x 12& 1,680
o HEZ I 2,449,900 *80% 1,960
oAIZIRIZ2R+Y
13,7813 *150%+284 Al 2+ 5,871
oIR8 I=E 110,248 x 18! 1,985
303 ZA&= 1,218 1,218
02 8utao2 1,218 1,218
O&A03 3,203,420 *38% 1,218
JlE2al 53,406 59,625 26,219
2AI1=2Z| 53,406 59,625 26,219
201 B2 AH| 10,206 8,505 1,701
01 AtR2telt] 10,206 8,505 1,701
O2A23 Jl=2+Eh| 279,0002 » 185 5,022
Ol 2R+ S|
8,000 *3A1x18H + 12& 5,184
202 44| 38,880 46,800 AT,920
01 =2LHO4 ] 38,880 46,800 AT7,920
OJl2g+d ol
180,000 *18H + 12& 38,880
203 YRF=&IH| 3,600 3,600
M MBI HRFA| 3,600 3,600
ORANE=E2Z 300,000& =123 3,600
405 KHHESHI 720 720
01 AL =EF S| 720 720
OX& Xt ¢ 240,000 *34 720
MHRES(MRD) 2,000,080 2,000,000 80
LHEHH K= 2,000,000 2,000,000 0
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